Name: Score:

[ Identifying Solutions - MCQ] One-step: 1

Choose the correct solution that best describes each inequality.

4 N [
1) |6X|>24 2) 13—|X|<19
a) (_°°/ 4) \ (_41 °°) b) (41 °°) a) (_ool 6) M (_6/ °°) b) (_°°I _6) O (61 °°)
Q) (o0, -4) U (4, o) d) (—c0,-4) C) (—o0,—6) d) No solution
.  \_
/
3) |[x+7|=4 \(A\M<8

Q) (=00, 11] U [3, =) d) [-16, =)
\ [
- Gain complete access to the largest
5 |x|+9<10 collection of worksheets in all subjects!
a) (o0, =11 U [1, ) Not 3 member? b) (—o0, 71U [17, )
Q) (o0, 1] og Please sign up to d) (~e0, 7] U [-17, )
\_ gain complete
4ccess,
e S
7) |18x|<-36
a) (-eo,-2) b) (-5, )

.

4 AYANEY

9 |[x|-20=5 10)734

a) (-0, =25] U [25, o) b) (e, -25] a) (-o0,12] b) [-12, %)

Q) [25, =) d) No solution Q) (-o0, 121N [-12, =) d) (—oo0, =121 U [12, =)
. AN

Printable Math Worksheets @ www.mathworksheets4kids.com



